Homework

\ .

Y-2 |oa(::h,qlt)7
Y=2sia (3917

N=sinex)

Y=2(x-5)+7
V=2

Y= 2747
Y=eX
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Graphing Radical Equations

NC.M2.A-CED.2 Create and graph equations in two variables
to represent quadratic, square root and inverse variation
relationships between quantities.

NC.M2.F-IF.4 Interpret key features of graphs, tables, and
verbal descriptions in context to describe functions that arise in
applications relating two quantities, including: domain and
range, rate of change, symmetries, and end behavior.

NC.M2.F-IF.7 Analyze quadratic, square root, and inverse
variation functions by generating different representations, by
hand in simple cases and using technology for more complicated
cases, to show key features, including: domain and range;
intercepts; intervals where the function is increasing, decreasing,
positive, or negative; rate of change; maximums and minimums;
symmetries; and end behavior.



Radical Transformations

« Use what you know about transformation to make conjectures
about the following equations with parent function Y= Jx,

heck your conjectures with your groups and your calculator.

k=5 - (5) y=Jx-6 (O, L)

K> D¢
y=2Vx-3+4 @ y:x/3_x

\ert g3 oY 60T Sheak |
Steeh W Z 3

Y =—x—2 y =

1
“IXH+
3

« Do the graphs look like you expected? Why or why not?
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Practice:
- For the following equation find the:
= Sketch the graph (5,3 )

- Transl.ation £s U y —Jx=5+3
X = Domain 5/M>

y @ Range (5,29 /3
- End Behavior [>T

X35 Y5 X—m =y /:m,' —

s Increasing Intervglm)
= Decreasing Interval

N jir
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Practice:
- For the following equation find the:
= Sketch the graph B /)
l

o Translation Dswn |
. Var--l-f?re'fcb\ y:4\/;_1

= Domain/o, .»)

o Range [ =0)

S .. N | -
= End BehavmrSO o J*:) wl i /
: Increasi.ng fhtervar o 0,,)/ 1
= Decreasing Interval

MR
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Practice:

- For the following equation find the:
= Sketch the graph

- Transl.ation y = 2, Ix +4
= Domain o
= Range

» End Behavior
= Increasing Interval
= Decreasing Interval



Practice:

- For the following equation find the:
s Sketch the graph
O 1 Y 1lofle
Transl.atlon% Dl lef o y=—JXx—6-4
s Domain @/ po)

b, =9
» Range C/po/’ﬂ ( / )
» End Behavior - 1/ - L \
X206 v—>1] x—a0 vy -0
= Increasing Interva

/ \ ‘l \\ \‘ l\
s Decreasing Interva iv '

() N

V)
Y
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Practice:
- For the following equation find the:

= Sketch the graph
» Translation K 7_
> Domain (-22,~2)
= Range (-=2 ,M)
> End Behavior € {
. Increasin(g

Interva
(25905
= Decreasing In%’rrval

X=> 00 y=-es

_>/‘\

X s Y oo

<_/
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Practice:
- For the following equation find the:
= Sketch the graph (O , é,\
: Transl.ation UP ¢ y=3x+6
= Domain (-9 o )

> Range ( -»=<, , 20
> End Behavior x—_o~y_5 -2
X - = <90
s Increasing Interva1> [

= Decreasing ntérval

N/

/Y\
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Practice:

- For the following equation find the:

= Sketch the graph ( 0 0)
= Translation Ve-+ * Steefehed y :%

> Domain (-#°=2 ]
= Range (-~~~ ) A

—

= End Behav1orX a0y | X550 ymeD Z/
= Increasing Interval (_ 42)
= Decreasing Interval

M
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Practice:

- For the following equation find the:

= Sketch the graph
. 05

» Translation U?) %«CW y = Béﬁ +5>

o —axX o
= Domain (-=%<2) :
> Range (-mo?)

End Behavior, < > &

> End Bel avior, \/_)O,,) e s S
= Increasing Interval N

= Decreasing Interval
{ P~ 29

/\



Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant



Practice:

- For the following equation find the:
» Sketch the graph s

- ' Lus 1
Transl.atlon Keds . y=" 3 _2 45
> Domain (.~ 4

= Range (-~ < \ )
> End Behavior X =~ YY;::” /
= Increasing Interval( .-~/ &

= Decreasing Intewal/vﬁr T

Ny
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